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32. What is the new limit of expenditure in Loksabha election?
(A) 70 lakh (B) 50 lakh
() 40 lakh (D) 25 lakh

33. The Navy Chief resigned due to submarine sceidents is -

(AY D.K. Joshi (B) V. Bhagvath
(C) V.K. Singh (M) None 32 A
33 A
M A
34. E-Wallet, scheme 15 introduced by : 35 ik
36 A
(A) IRCTC (B) SEBI 37 A
: , 38 | B
() RBI D) LIC e
35. Which movie won the best picture award in the Oscar awards 20147
(A) 12 Years Slave (B) Helium
(C) 20 Feet from Stardom (D) None of the above
36. Knshna Choudhari is the Director General of :
(A) RPF (B) ITBP
(C) CRPF “ (D) BSF
37. Hyderabad will be the capital of Andhra and Telungana for VEArs,
(A) 10 (B) 5
(C) 12 (D)) None of the above

38. Which of the following metals forms an amalgam with other metals?
(A) Tin (B) Mercury
(C) led (D) None

49.  Which of these gases not belong to green house gases in the atmosphere?
(A) Carbon dioxide (B) Hydrogen
(') Methane (D) None
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A6, The smallest unit of memory 18 known g :
(A) Byte (B) Bit
{C) MG (D GB
57. Which of the following 15 not a computer language?
(A)  Low level language (B) High level language
(C) Maodium Level Language () All of the above
58. Which of the following is not required for mail merge?
(A) Macros (B) Merge fields
(C) Main document (D) Data source
5%. Caleulator ia in — menu.
(A) insert (B) aceessories
(C) review (D) format
60. Which of the following will you opt for saving a file?
(A) Save option from file menu (B) Ctrl+ S
(C) Save button on standard tool bar (D)  Any of the above
61. Short cut key used to cut the selected text : :g :g
(A) Cirl+V B) Ctrl+7Z e
(€ Cul+C D) Ctrl+X 2
62 B
62. What is PDF stand for? 63 D
(A) Pre Deseribed File (B) Portable Document Format
() Portable Document File (D) None of the above
63. The short cut key used to Redo the last action performed 1= :
- (A) Cul+K (B) Ctrl + Home
(C) Ctrl+2 (D) Cerl+Y
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73. — 15 basieally a quick link to a program, a file or a folder.
(A) Mouse (B Teon
()  Short cut (D) Any of these

74. L 'in Roman letters means

(A) 100 (B) 5
(C) 50 (DY 25
75. Ina word document page number is inserted into ;
(A) Spell check (B) Format
(C) Line spacing (D) Header and Footer

76. Which spread sheet software is most switable for preparing Balanee Sheet?

(A)  Ms Office (B) Ms Excel
() Application software (D) Tally aceounting

77. Who invented mouse?

(A) Douglus Carl Engelbert (B) Allen Turing
(C) Glen Record (D) None of these
73 C
78. Which of the following is not a cursor control input device? 7] C
(A) dJoystick (B) Keyboard 3‘:-.' ]I::
() MICR M) Mouse = g
79 C
79, ——————— Key 18 used to preaent column position of text : 80 A
A Ctrl B) Alt M B
(C) Tab stops (D} None of these
© 80. ALU Stands for :
(A) Anthmetie and Logical Unit (B) Aptitude Logical Usage
(C) Abstract Language Unit (D)  Arithmetic Language Unit

81. The upper portion of the machine which moves while typing iz called :
(A) Main spring (B) Carriage
()  Type basket (D)} Type bar
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83.

84,

85.

88.

B7.

88.

89.

The hard eylinder 15 used (or ;

(A Typing (B) Taking carbon copied
(C) Stencil cutting (D) None af the abovn
Carriage rack travels on the wheel
(A) Pinion wheel (B) IEscapement wheel
(C) Mainspring (D)) Ratchet wheel
There are character keys in Halda Typewriter :
(A) 40 (B) 44
() 54 @ 31
The shift key 12 used for getting — character on the paper.
(A) Lower case (B) Upper case
()  Nuwmbers {D} Anv of the above

The space bar is directly connected to the :

(A) Pinion wheel (B) Type basket
(C) Dog block (D) Character keys
When pressing - key the carriage moved stop by step towards right.
(A) Shift key (B) Spacebar
(C) Backspace (D) None of these

developed Touch Methaod.
(A) Frank Me¢ Guerin (B) William Henry Mill
(C) Chrnstopher Sholes (D) None of these

While sending letters from the Govt. Offices we can see at the top of the envelope :

f
uy
=

(A) Regstered (B) Confidential

, 82 C
b i o
(C) OnlGS (D) Very Urgent 5 A
84 B
used befere the name of the Governor. 85 B
(A) His Excellency (B)  Honarahle 86 C
5 T ) i | 37 C
(C) Sn. (D) Messes =~ =
89 C
| A
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91. 15 used to get blank spaces between words and letters.
(A) Tymes (B} Space bar
(C) Shift (D} All of the above m
B
92, There are Seales 1n the Typewriter. B
(A) 3 (B) B
© 2 ™ 1 =
D
93. Over tension of Main spring caused : A
(A) Jumping (By dJerking :
(C)  dJustfying (D) Stopping C
94. Another name of variable line spacer 1s ;
(A) Fractional spacer (B) Sepgment
(CY  Ieregular line spacer (D} None of these
95, Sketches can also be drawn by :
{A) Skelchpen (B) Stylus pen
(C) Hard pencil (D) Ink pen
896, When the Typewritey is in rest dog catch hold of the escapement wheel.
{A) Shft (B) Pinion
({C) HRagid (D) Loose
97. Gap between lines equal to letter is called :
{(A) Ablgnment (B) Rhythm
(C) Space (D) All of these
98. Expansion of PIN number :
(A) Tostal [dentification Number (B) Postal Index Number
{(C) Pan Index Number (D) None of these
99. Government orders published by the order of the :
(A) Minister (B) Govi. Secretary
(C) Governor (D) None of these
100. To save time and labor -envelop 1s used.
(A) Card (B) Cover
(C) Window (D) All of these
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